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[Maximum Marks : 30

In which survey the curved shape of
the earth surface is ignored ?

(a) Geodetic survey
(b) Plane survey
(c) Hydraulic survey
(d) Geological survey

An lnvar tape is made of an alloy of
(a) Copper and steel
(b) Brass and nickel
(c) Bmss and steel
(d) Nickel and stoel

The following are readings taken
during levellirg
1.100, 2.005, 3.615, 1.375, 2.010
level instrument was shifted after
third reading. The third reading will
be recorded as
(a) Back sight
(b) Fore sight
(c) lnter sight
(d) Any of the above

P.T.O.

(ii)

t.

2.

3. 3.
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All Questiow are compulsory and each question is of I mark.

<i:#rlsrod,Cal"rFi?*tfiefi t aidrt ayna?+r<* r

Cnli' English version k vulid in case tf dffirerce in both the longuages.

fus sdqT'r { $Et +t +*' snFfr +
Btm s+ srffi t r
(a) qgdqsdtTrr
(b) IrtlEFt {fr{ur
(c) qFfrq qftrrr
(d) TqqTq {rdrtur

Ef,crctc frrr &furur $r tt;rT atar t ,

(a) d-{r q?i *m
(b) ' €Fffim
(c) qfsrqEi*dT
(d) k+,dqd*o
ilequr +dTrr frEr qtaio,ftri ,ri ,

1.100, 2.005, 3.615, 1.375, 2.010

ffr* qrai+^* <t(ilAt{or.ix en6
f+.m rrqr r {Sc crai+,<d Etrn

(a) qY-{lq?ilfi
(b) €{mtrs*-*a

(c) qqlTfrfi
(d) B,qrtnittsttS

(1)
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or{M, Eis sil qltfif,d o'{e {FFt

{Hr=ftrqr staftrttrnqr ret qrtr t
(a) q}fimffi*o<rcr
O) qlftrqMtsm
(c) qf{ddr fr qer w
(d) qlk}*r}t 3IRffi

s+tr tqrq f{q eb it q'+'Xst*qrs
t*t,
(a) srftrcrara qrd

(b) +qareerd
(c) rrrro qtd

(d) uakd qgn

frq ii t ffi qfte sr gs'rr'RmT tt
(a) qlkoqft{
O) ffoqtu
(c) r"rs cr0e

(d) ssmq*

nefns& {+ frfr t
(a) €td
(b) {{cK
(c) fu{q
(d) 6,qgr qE m

trtcrftffi t{TE {
(a) €.fte+'rqr+rdtt r

(b) qs'6tur 90" in*art t

(c) st$ +i"r 30't +q *t 120' t
erftr+qrruTdcrt t

(d) Eht* si"r 45' t oq stt 90' t
qfiro'rfi ttr t r

(t['1 : 20 +'61?t q-{ qrfr tr+ dqr*
382trc{t re}ftrqdqr{6tft
(a) gzq.oo*et

O) 381.12s +ar
(c) 382.6s0 *.{
(d) rst.szg dtr{

2052

While plotting the longitudinal
section the vertical scale is normally

kept
(a) equal to horizontal scale

(b) less than horizontal scale

(c) as per choice of engineer

(d) more than horizontal scale

The contour lines are close to each

other in ground having
(a) Steep slope

O) Gentle sloPe

(c) Plane ground

(d) Overhanging cliff

Which of the following is not a tYPe

of chain ?

(a) Metallic chain
(b) Metric chain

(c) Reve,nue chain

(d) Steelband

A metatlic taPe is made of
(a) Steel
(b) lnvar
(c) Linen
(d) Cloth and wires

In well conditioned triangle
(a) All Angles are equal

(b) One angle is right angle

(c) No angle is less than 30" more

than 120"

(d) No angte is less than 45o more

than 90o

(2)

4.4.

5. 5.

7.

8.

7.

9.
9. The distance measured

gradient of I : 20 is 382

horizontal distance will be

(a) 379.00 m
(b) 381.125m
(c) 382.650 m
(d) 381.523 m

along a

m. The

6.
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frq ii t Hr sfr.qq T{S sT \rq'sq+rr
*Ttz
(a) sr{rs EF.rc6t furur

(b) qtaua +t'ror+
(c) vg+.ritsq oT ka+
(d) g<r +r{ +t rrunr star

frq it t qr qfi-{ {ftT"r +t qs'yfuqr

tr
(a) {dHUr tqrclt * w +tur +r

TIFFT I

(b) (&{ur tor *^ tcoqm EFt rIFFr I

(c) s+qTUI *Fii*'qts sntqc r

(d) il&.Tur

trq ii t +}a u dqa rs{ ilrtwr +'
Hffiiftr*.tic{fftt
(a) ffur+ffi
(b) Y-e{m
(c) Efrr'rdffi
(d) sd+{d

q's'+{fi €flT t * k5eti i6t trrlFkt
qrdi+. l.3os qq 2.010 t r dii qlaiqt

t r dai fo5sii C n-rmn
tn
(a) ffiq k€ uw firg t o.zos *er

uc{t r

O) uem f+g kdq k{ t o.zos *a
sc(t r

(c) trtrq t+5 qsrq t{€ t l.rts *ar
uq{t r

(d) sqc k€ trfu k€ t l.:ts tra
sq(t r

*2611 f!g' rn fuq it t eim di :

(a) rflJtTctff

o)
(c) sTrrd*+,{ qtd qgqt{*da
(d) qrtiqtqrcarst

2062

Which of the following is not ause of
contour maP ?

(a) Drawing cross sections

(b) Calculation of area

(c) Marking alignment of road

(d) Computation of earth work

Which of the following is one of the

operations ofchain surveY ?

(a) Measurement of angles between
survey lines.

(b) Measure,rnent of bearing of
survey line.

(c) Ranging between survey
stations

(d) [rvelling

Which of the following levels is most
suitable for fly levelling ?

(a) Tilting level

@) Ylevel
(c) Cushing level
(d) Dumpy level

The two consecutive 166dings from a

level are 1.305 and 2.010' Both are

intersights from a common station.

The level dif;ference between the two
points will be
(a) The second point will be 0.705

m higher than first Point
(b) The first point will be 0.705 m

high€r than second Point.
(c) The second Point will be

3.31 5 m higher than fust Point.
(d) The first point will be 3.315 m

higher than second Point.

The following sights are taken on a

"turning point" :

(a) Fore-sight only
(b) Backsight only
(c) Foresight and Backsight
(d) Foresight and Intermediate sight

(3)

10. 10.

11.
11.

12. 12.

13.
13.

14.
14.

P.T.O.
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15.

16.

.il{ t{d sr s{rffit
(a) 750 mm x 900 mm
(b) 600 mm x 750 mm

(c) 450 mm x 600 mm

(d) 300 mm x 450 mm

+{ t{d or ffiqqrs Rsufuql X

(a) ts***<or+t I

O) fo-ffit +} rka.n nik *ri et t

(c) d--{ t{f, +t H'fr {t{R rR

{qFII<Tr{€t+t I

(d) drl isfi +i w6* * sqt{rfr{
tqi* r

+i ri 6qra +r {{ilti{ *dr t
(a) s*<r er+il€

O) r*qrrylrtrfi
(c) dFFIFI qfifl€xfrrit sr fufu 6{fir

tr
(d) o'rfr eFflffi', o*ftzottw+'

q qq}q ter( qo {qt si fuft qs
€f,{€{tcsresffitg:
(a) rtr$ii
O) ilars i[
(c) qdtqdrgn{
(d) qqra t* ii

qr+" 30 +e Fn+ cfre o.zs fr& qftr+.

ralqt t r qn qfrs $ wfuiil d fr5sii
*.cteqRilPffid wr d'ft z
(a) 119.7s *e{
(c) 121.00*.{

(b) 11e.00 +{t
(d) 120.2s fre{

(c)

(d)

17.

18.

19.

20. +{ 2s€ s{Hq it qRs+.rq irrcr t
w*tH*'H r

qt tc-+it *'ct{ ffr an H{i +
Mr
+{}ffiotsraa+ri*'fut r

+riqf,+nt<q*'ki t

(a)

(b)

(4) 2A62

The size of plane table is
(a) 750 mm x 900 mm
(b) 600 mm x 750 mm

(c) 450 mm x 600 mm

(d) 300 mm x 450 mm

Orienting a plane table is the

operation of
(a) Centring the table
(b) Plotting points on the sheet

(c) Keeping the Plane table in
parallel position at all stations

(d) Keeping the table Parallel to
ground-

Correction due to sag of taPe is

(a) Always Positive

O) Always Negative
(c) Dependent on temPerature

condition
(d) Sometimes positive sometisres

negative

Two contour lines can sross each

other only in case of
(a) [n hillock
O) ln pond
(e) In-overhangingcliff
(d) In plane ground

A 30 m chain is too long bY 0.25 m.

What witl be the actual distance
between two points for a distance of
four chain length ?

(a) 119.75 m (b) 119.00 m
(c) 121.00 m (d) 120.25 m

20. An alidade in plane table survey is
used fore
(a) Sighting objects
(b) Determining distance between

nvo points
(c) kvelling the plane table
(d) Centring of plane table

15.

16.

r7.

18.

19.



22.

23.
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zt. frq it t qfi qr tsss,{uT {deT'r t€I
ss+-di * qm enmr t r
(a) d-{f,

O) qRs
(c) *fq €rs
(d) tuke+q--n

q+.1ft +T eiir {vhr+ +.ro dm t r Xfrt
(a) 20.34 ffi
(b) 1s.6s ffi
(c) ts.ss ffi
(d) +0ffi

qr+qq tqrqrwr dartf
(a) q) ffimd vrnq tcpit *'$s

utatrnqt r

(b) d mrn'n {ctq tqrici *' qcq

elfrq {fr r

(c) k€Tqi {ctq tqrdi * cra elfuq
1tr

(d) t+.6T + ur+q tqrlii * +c
sqhr*t I

zo *a fkqr qfrq { ftro. of tqr
fur* d,fr z

(a) 40

o) r0o

(c) 80

(d) t2o

,rfritiiFrirfli*q*t
(a) frfu sdq
(b) €ciqter
(c) wIFt

(d) qlil*c {dHUr

25.

(s) 2062

Which of the following instrument is

used to take offsets from survey line ?

(a) Level

(b) Alidade

(c) Cross staff

(d) Spirit level

The refraction correction for a

distance is 4.30 m. The distance is

(a) 20.341ort

(b) 18.68 km

(c) 19.59 km

(d) 40km

What is contour interr,ral ?

(a) Vertical distance between two
consecutive contour lineS

O) Horizontal distance between

two consecutive contour lines

(c) Horizontal distance between

any two contour lines

(d) Vertical distance between any
two contour lines

Hcrv many links in 20 m rnffk chain ?

(a) 40

(b) 100

(c) 80

(d) 120

In Maps the heights can be shown in
(a) Horizontalprojection

(b) Contours

(c) Plans

(d) Astronomicalsurvey

21.

23.

P.T.O.

22.
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26.

27.

28.

TtrE6{ur ffi frftT t {ql+d ilfi *t
rrum mri ii sq-+-{sr HEt* t
(a) &tqrEI{cridilm
O) qfu tqt *i 3tFr{st +flc t

Wr
(c) {r+q { +q+t cm+s t ttqrt I

(d) Bqt6{stt rrcr{ftTcrrrqr qrai+. t

sH it ZIW {is{ tt tvttn 6tdr t
(a)

o)
(c)

(d)

s*qrffiteq.
v*qtE'flffio
+.frZqmoerfr mgo
{s tr{ fufu orm t ts. {t€-{
s&'T"r tqr + <rqT eilrdr qrfi n-tq'

tr

!HRiEq-+,{dql'r

qrqfttq-{dq{ur

Wsfuur
trtq

29.

€IFIFT Sffi?ET Aq6{ET t
(a) qrig66rgs.gr

(b) qqt*r'rqt
(c) gtT qrg'+tsrf

(d) *a mr fis{qrS

t{qiitq1frtsdm\rd'3qs{
rfi tz
(a) \'fit}s
(b) r+Rfrq fFIsT

(o) ffi{+{n
(d) qlgm

30. fu{ qh or s*eTur q.r+ t ss+r cl-{ftrs

sqETUr +cam i
(a)

(b)

(c)

(d)

(6) 206,2

In calculation of R.L. using heigfot of
instnrment the height of instmment is

(a) The reduced level of line of
sight

(b) Height of line of sight over

instrument station
(c) Heiglrt of centre of telescoPe

from foot screws

(d) The reading of staff from the

instrument

Correction due to wrong alignment of
tape is
(a) always Positive
(b) alwaYs negative

(c) sometimes negative sometimes

positive
(d) depends upon whether

alignment in to right or left of
line

The examPle of level surface is

(a) Piece of PlYwood
(b) Thefloorofaroom
(c) ToP surface of drawingboard

(d) The still water of a lake

Which of the following is not an

accessory of Plane table ?

(a) Alidade

(b) OPtical squ.re

(c) SPirit level

(d) Plumb bob

30. The prelimimry survey of the area to

be surveYed is called

(a) Eleme'ntary survey

(b) Primary sufl/ey

(c) Basic surveY

(d) Reconnaissancesurvey

26.

27.

28.

29.
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SURYEYING AND LEVELLING

slT ' O senqFt qflqt{* dyCdEE€flcf?+rars?&d' r

Notc : Question No. I is compulsory, answer any five questions from the remaining.

(ii) sdr.rw #pqt vrif mlfiqdrcyosrrda#|W t
Solve all parts of a question consecutively together.

(iii) sdqnw6tzd. EsCrnrrr #|qq r

Snrt each question on afresh page.

(i") qhlqmdf #.aaraH dtffi Cainq? aqarca?qtq* r

Only English version is valid in case of dffirence in both the lnnguoges-

1. (i) Errrr{ur t-qrtt srm iFn {sfld t z urgrtt r

What do you understand by Height of Instrument ? Explain.
(ii) ffit rM EFI IFII 3rr+{ } r

What is the use of Target staff?
(iii) eiqierE**rdffi r

Write the function of offset rod.
(iv) wct€{ dilrf, st qfqqrkdqit{q I

Defi ne contour Interval.
(v) nskt?r qd {g*c wdnwr if srqqsqdfqq r

Explain the difference between plane and gmdetic surveying.

tqfrc.dr dq : 70

[Maximum Marks : 70

(2x5)

(6+6)

P.T.O.

(i) nfioqrfu +qireefuqkerrysrti r

Explain with diagram the constuctional details of Metric Chain.
(ii) s4 +{d sr flT, *+6t qu E*+t+o'{Fii + orqi +t qrsq& r

Draw the diagram of Dumpy Level & explain the functions of its different parts.

(7',)

2062
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3. (i) q-flqT 1'< emFIqT 3iltuq ot qrrgr{i t

Explain Direct & lndirect Ranging'

Explaincommonobstactesinchainingandtheirsolutions.

4. (i) {-f,s*q{w+fl*it+rquhdfqq t

Explain the advantages of plane table survey'

(ii) *+* tqrcfi si ffi+ frt frFffi tcftni sT sui{ +ttqq t

Explain the different methods of drawing contours' (6+6)

s. Hfirq rsr+ildqpii +t qq-srti t

Explain different types of levelling' $2)

6. (i) wdeur +fsqr;n fafis& r

Write the principles of surveying'

(ii) qilql +qftarr qti t{ilftm s{i a1 frfu or qoh +1tqq t

ExplaintheprocedureofTestingandadjustingofChains.(6+6)

7. (i) -flrquiWi:
ExPlain the following:
(a) frtrtu

Radiation

o) qftrBfr
lntersection

(c) E;5'c

Traversing

(ii) s&rur ri qrq e{ri Erd frn{a qkit +<rt { srgri t

Explainaboutthevarioustypesoftapesusedinsurveying.ax3,6)

8. firq qr dt{q ffi frfi{n, C+t$ *O
Write short notes on the following : (Any three)

(i) rfl{frqrJfirqr
OPtical square

(ii) *n ot fuit{ur qi tqt5fiu
Fixing & Marking of stations

(iii) qd@t€iq.-{+gt{q
PurPose of Contouring

(i") aqq*{wWfuqrrc
Chaining on sloPing ground (4x3)

(t)


